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Setld : 47174 97 14Aug18_Batch3 D EIE
Section 1 - Paperl-General English

1) Choose the correct answer:
When he found his dream job, he found

2 bl Techofworld.In

C) pain
D) sorrow

2) Choose the correct answer:
They that they wouldn't be upon by
unscrupulous men.

) prayed, preyed
) prayed, pried
) preyed, pried
)

A
B
C
D) pried, prayed

3) Choose the correct answer:
The was very steep and only expert climbers
could make it to the top.

A) asset
B) ascent
C) assent
D) accent

4) Choose the correct answer:
After a lot of hard work and savings, the businessman
had a lot of wealth.

) accumulated
) received

) donated

)

A
B
C
D) lost

5) Choose the correct answer:
The little boy likes to caps.

A) wear
B) veer
C) were
D) where
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Section 2 - Paperl-Education and General Awareness

6) Who was the chairman of the Secondary Education
Commission which was established in 19527

A) P. N. Kirpal
B) S. Radhakrishnan
C) D. S. Kothari
D) A. Lakshmanswami Mudaliar

6) € ¢896a AT AR JI 2CLITR 2B &7 R 2

A) .49 AR

B) Q. Quligiaq

C) 849 61011

D) . Q€A QImelQ

7) Which of the following organizations was established by
the All India Council for Technical Education (AICTE) in 1994
and operated as an autonomous body since 20107

A) National Assessment and Accreditation Council
B) Jawahar Navodaya Vidyalaya

C) National Board of Accreditation

D) Universal Grants Commission

7) GARYE AAIGER AR 699G 1994 Adalea 2R el FIaedR

TR 60RTRIN UGEeRdr (YUIRdTR) TR oI RQULIRYMI 99°
2010 3! 0Ig °8ITE Al VIER RITY @RS ?

A) MHQAFIR LI6AACCL 8 IFFETAR FIRGAR
B) GQI26 96919 U

C) NQRIR 69IE 2T AFE6TAR]

D) gdedia g9q @Aag

8) The University Education Commission which
recommended religious education in the colleges
advocated that all educational institutions start work with a
few minutes of

A) Silent meditation

) Chanting the mantras
) Namaz

) Surya namaskaras

B
c
D

8) A6 AIGE6a A J8l AIa 92IR 69R2R YFeAS 1geaeaq
@ide Ang dAIRAIe GIRYC 6RucYq AR ARQ Kdel aea gl
Q% AR AAVER 16 6226 ?

A) 6¢le Aig
B) 7@ Q0

C) QaIg

D) gdy aAIR

9) The most abundant element in the earth's atmosphere is:

A) Hydrogen
B) Helium
C) Nitrogen
D) Oxygen

9) QUA1A FIFFERER 629 QRIS AQQ 2R 08 68F :

A) 2999
B) &hge
C) YRR
D) agele

10) Which of the following are the popular distance
education mass media programs of the Government?

A) Discovery Kids

B) Knowledge Ganga

C) Krishi Darshan

D) Gyan Vani and Gyan Darshan

10) FANYE FUQ 67EE AARIRE ENINTR FRFIBQ FIFE A
QILNGE 2169 ?

A) GAERRQ @G

B) a6Rq I8

C) 98 @de

D) 2199181 GQ RIFQd
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11) According to the Education Commission (1964-66),
‘education must serve as a powerful instrument of social,
economic and cultural transformation, necessary for the
realization of

A) social goals

B) economic goals
C) personal goals
D) national goals

11) daIefias (R C9¥-99) QA FAANITR, 2eToR 1Q°
ArYER QF9ER IR IREBHIRT AUANIER ULLIR 629, F67ID
Qg 6790 91F @a9! diel

A) AFIFS Ay
B) aifie aay
C) S4I9% My
D) Q918 ay

12) Who among the following is NOT elected in accordance
with the system of proportional representation by means of
the single transferable vote in India?

A) Vice President

B) Chief Minister

C) President

D) Members of Vidhan Parishad

12) QIGGEA Iaa 2RI 6RIF QR AAIFUIGR EGYQ T
QIR FIRYE CrIQ &4 FAEe Q2B QIF ?

A) QUQULAF
B) ¢suna1
C) Qga@

)

Q
D) QuIe d9% 49y

13) Antifreeze solution is used in car radiators at higher
altitudes. What role does this antifreeze solution play?

A) It increases the speed of car at high altitudes

B) It is the source of heat to the car environment

C) It lowers the water's freezing point used in the radiator
D) It increases the water's freezing point used in the
radiator

WtsApp/Call- 8596976190

13) 2@ A% VN6 FIG AGITR 66 VAT IQIAR QLGS 4 |
42 29T} QAR 694 IRIR QU7 96a 2

A) 99 AFER YLl R 699 9F Q6

B) @6 98694 g& 12l Aal0a g 26e

C) QIE~I9Q 6Q Q1999 UIFiq TAITY 12! /7| /69
D) QUEI5Q 6Q Qe IGQ FAIeq 21 2D A6

14) As per the Constitution (Seventy-third Amendment) Act,
1992, the superintendence, direction and control of the
preparation of electoral rolls for, and the conduct of, all
elections to the Panchayats shall be vested in:

A) State Election Commission
B) Central Planning Commission
C) Finance Commission of India
D) State Planning Commission

14) QAMIR (69LNISF AEHRIA) 2RYFAA 1992 2QUIL), TBILS
GAORER NIGYR AL REMER, IR AR A IZFD 0QNRE, Fetaa
Q° FRRE & aase:

A) QIgY FAIOR e
B) 6@g 621691 26l
C) QIR0e 9@ 2Ied

D) QIR 619G 26T
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Section 3 - Paperl-Reasoning

15) Ron is the brother of Mathew's son. How is Mathew's 17) 998 99169 QI LHIGERR Qe LT @4 629 ?
mother in law related to Ron's sister? 22 23 48 147. 7

A) Sister
B) Grandmother
C) Aunt A) 598
D) Cousin B) 498
C) 492
D) 592
15) eQug 69Q8E R4 QAR Wi | g4 Sl 60N & YRET
@€l 6269 ?
18) If GRAMMAR is coded as LRFMRAW, then DANCER
A) @@ will be coded as
= SR A) IASCJQ
) g1 B) IASCJS
D) @aR1C Q@4 C) IASCJR
D) IASCJP

16) If TO is coded as 300, OF is coded as 90, then GOT will - ~
be coded as 18) 99 GRAMMAR @ LRFMRAW @69 6918 99 @lding,

606@, DANCER @ @9Q 691 98 @qide

A) 1800
B) 2100
C) 2400 A) IASCJIQ
D) 1200 B) IASCJS
C) IASCJR
D) IASCJP

16) 94 TO @ 300 €169, OF § 90 QI6Q 6RIQ Y2 ARG, 606,
GOT g §98 6918 @8 @aIde

19) What is the next number in the given series?

A) 1800 1001, 2002, 3003, 4004, ?
B) 2100
C) 2400 A) 3005
D) 1200 B) 4005
C) 5001
D) 5005

17) What is the next number in the given series? 19) 928 GFI6R 4 AINIYPFIA AAIBN TUIS @9 629 ?

22 23,48, 147,72 1001, 2002, 3003, 4004, ?
A) 3005

A) 598

B) 498 B) 4005

C) 492 C) 5001

D) 592 D) 5005

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

20) What is the missing number in the given series?
11, 93, 22,62, ?, 31, 88

Sowm>
W
SRR

20) 998 G769 & g9 LT K6 26 ?
11,93, 22,62,7,31,88

A) 37
B) 44
C) 34
D) 39
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Section 4 - Paperl-Teaching Aptitude

21) Which school of philosophy believes that only
materialistic world is true and there is no true spirit.

A) Neo Realism
B) Realism
C) Idealism
D) Pragmatism

21) 6297 9gRIQ1 9A2I ASY Y9° 6FIET A4 QILRI QI QIR
609 MIREIY S9I1Q R6a ?

A) G4 QIZQQIQ
B) QIgQeql@
C) 2RI
D) @aleeR

22) Mudaliar Commission suggested all of the following to
Improve Secondary Education in India EXCEPT

A) Multipurpose School

B) Diversification of Courses

C) Professional ethical values

D) Duration of Secondary Education

22) @1996a AP d8Ia 89 AIR eReIa adde SaRge
QG 6R60q 817 2Ia 99 J9Ie 69R86R ?

A) Qg FUIRE

B) QIOigEa GRNGaE

C) 604IQIQ 6TER CRY6aI
D) qréia daIe 2iee)

23) Operation Blackboard was started in

A) 1986
B) 1988
C) 1987
D) 1989

23) @RI AR 699 QF QA 6TRER! ?

A) 1986
B) 1988
C) 1987
D) 1989

24) Woods' problem-solving model involves all of the
following EXCEPT

A) Define the problem
B) Plan a solution

C) Look front

D) Think about it

24) GQ & AAQYI-AFRIL FIELRER IGER AP 6965 TG 2R
Qg e ?

A) AAQIg AL AQL

B) QA A#G6Q 6AISR @aS
C) aIg 624Sl

D) 42| GUA6R QUTR

25) "Philosophy is the logical enquiry into the nature of
reality". These words were said by whom

A) Abdul Kalam

B) Aurobindo

C) Dr S Radhakrishnan
D) Tagore

25) "Q89dIQ QI2R0IR g96 96 oRe aQa0i 863 |" ¥l @4
Qdeem ?

A) 2990 I

B) 2ed%

C) @. 29 QRIGE]
D) 169N
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26) The aim of education according to Sankhya yoga is

A) practical living
B) self realization
C) emotional development
D) emancipation

26) $lIGr6RIG E9YIN FFIQ REQEY 4 26G ?

A) 19210 RN
B) 2if] aang

C) QLRI IR

D) 92

27) The theory of emotional intelligence was given by

A) Simon

B) Spearman

C) Thomdike

D) Daniel Goleman

27) 2lsdie 98q 81’ @4 gaIe @tigem ?

A) AR

B) daaeug

C) 24eiaq

D) QIGm 6QIRENIR

28) The part of the brain that is related to speech
production is called

A) Wernicke's area

B) Broca's area

C) liver

D) Islands of Langerhans

28) e@Ied AfelE (39 2°6q Q4 gRIand ?

A) 6Eaag <9l

B) 69i@I'q 9qal

C) Qg%

D) 20mig AT NITFALIG

29) In order to reach at behaviour modification, the teacher
should

A) not be bothered at all

B) ignore all wrong behaviour

C) check all wrong behaviour

D) encourage the wrong behaviour

29) 2IPad 9RReR G8Q, I90 94 KAQl 90Q ?

A) 265 536 626@ QIF

B) 4918 R 004 281694 RGeS
C) Q912 @M ZILAE] SQI0Y FG6Q
D) 9 29ad AIa RIS 6

30) According to Pratham'’s Annual Status of Education
2013 report, Which of the following is a great concemn
about class-appropriate learning?

A) Nationally 29 percent of children drop out before
completing five years of primary school

B) Only 53 percent of schools have functional girls’ toilets
and 74 percent have access to drinking water.

C) There is a teacher shortage of 689,000 teachers in
primary schools

D) Close to 78 percent of children in Standard Ill and
about 50 percent of children in Standard V cannot yet read
Standard |l texts.

30) gaIas 910l 926 F81e QI8 @6 9 o eq Gealc AgAIL,
696/1-00YS JNIg 699 FARNYS FIQ 6966 1@ TR S ?

A) 19192968 29 988e SRl gledie J8Ie areed ges 9aQ)
999 9I0 gIged

B) 6997 53 9646 SMIRRea Q1w 6dloing @ 74 9846
2IP6Q TIR1Y FRx QR 9FF |

C) gefie Sauiea geass 689,000 8@ 2919 2188

D) 99 6g616Q &1 AIHIAIY 78 960 8 861 654116 <
AIgligig 50 goEIe dmi9 R 6§61Q Q10 O AIQRRIG |
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Section 5 - Paperll-Odia Language

i ‘@’- @ AR AIRIN ?

A FEIQ
B gREIee
& GRS

D) FERAINR

€~ 3
32) Q’ TR RN CRALEQ QIR 47

p) 999€ 960 YO 6269
B) QrRAAC A6Q YS 626R

c) RO ANAECA
p) SALA8ER

- P61 QEO AR NIQ QUG ANIRIRIQ a6 A0 YQ a9 ?

A) AR
Sai521
QAR IR

B)

C)

D) QU]

34) €FTO’ 60U QRIA GIQ NAIQ ARYD

A agate
B) AIRQ1
c) Qidt
D) 991
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35) ‘@Pca coR ARIQ AR’ 8T 22 Fqaa eal

) 898 adiQl
) 2890198 QQQl

c) 8% eeqQl
)

m >

AR FNO|

O

36) ‘QIQ IR - 6QUIEO U 60 SR A2V ?

A) qene 8al
aqnigel @4l
QR Eal
AQ6Q 28l

B)
C)
D)

37) ‘PRIAR’ I9Q QEIRTI IQ ACAINIAE 8] AL 6 ?

39) 6QuT ‘Qa’Q abaQ Q<1

A) QR19Q
B) gadauel
c) QAARRE!
D) Qgaal
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40) ‘@0d RIRR’ RUAQ YRITN ?

A) 28 ARRER 64 Qe AR
p) Q2198 60 ARIAR
C) 9% TEURRER 64 AR

@l AAIQQ 69 64 % Q AR

D)

at) ‘291 690IR1A FIVIL AR’ QST 6OU 226Q QIR 47

) 2968 78l
Qakeal
298Q1Q 00|
a69fal

B)
C)
D)

42) 6QE6 ‘A0 00 96aQ Q6T |

A) U@
B) gl
C) Qe

D) o1

43) A]%’ G1R6Q Q’ AU CQU AUCA QUIRE ?
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45 UIRA GI6A 69U AR QUORIA 626Q QAT 62IQAN?

A) QORI
B) dQuel

c) 96884
D) S64aY
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Section 6 - Paperll-Mathematics

46) If A is an external point of a circle, AP and AQ are two
tangents drawn from point A to the circle then

A) 2AP = AQ
B) AP =2 AQ
C) AP =AQ
D) AP=3AQ

46) A A 6268 645N A U4 g, AP 9&° AQ 62088 95
Qd6a% QIR Q8 9F A I9Q 2FE, 656

A) 2AP = AQ
B) AP =2AQ
C) AP=AQ
D) AP=3AQ

47) If two positive integer m, n expressed as m = pg® and
n = p°g?also p and q are prime numbers, then HCF(m,n) is

A) pg?
B) pg

C) pg?
D) p*g®

47) 99 986 9819 9da sy m, n 9e18 KIYIRE m = pg* 9
n = pq? QIER, YYATE p ¥e° q 6FTIRG QI 6969 9.Q1.g (m,n)
ST

A) po?
B) pq

C) pg?
D) p’q®

48) x = 2 will satisfy the equation

A) 2x-1
B) 2x+
C) 3x+
D) 3x-1

— -
oy o
N oo o W

48) x = 2 609 ARG QIR Qeliel ?

A) 2x-1=3
B) 2x+1=3
C) 3x+1=2
D) 3x-1=2

49) If the HCF of 657 and 963 is expressed as 657m + 963n
(where m and n are integers), then what is the value of 'm'?

A) 22
B) 8

C) -15
D) -12

49) 9@ 657 99° 963 Q@ 9.41.g 657m + 963n WER XK
ARG (6IR0 M 9K° n GEAHII), 6962 ‘M’ @ FRY 6960 ?

A) 22
B) 8

C) -15
D) -12

50) If (2x+5y):(3x+5y) = 9:10, what is xy?

A) 47
B) 5.7
C) 4:5
D) 5:17

50) @G (2x+5y):(3x+5y) = 9:10, 6669 xy 6@697

A) 47
B) 5:7
C) 45
D) 517
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D T et

51) Under what condition X + px + q is a perfect squre?

T T OO
oo
N BN
Z_ 0 O

oOom>
o

51) 6@ 2109I6R X2 + pX + q 99 A0K Q6 26T ?

Som=>
T T T T
n o nn
NN
&8
=]

52) For any two sets A and B, (A-B)U(B-A) is

A) (AUB)- (ANB)
B) (AUB)N(ANB)
C) (A-B)UA
D) (B-A)UB

52) 69 671613 GRF 649 A 1@° B QIx, (A-B)U(B-A) 6248

A) (A
B) (A
C) (A
D) B

UB) - (ANB)
uB)N (AnB)
-B)U
-A)UB

53) If the equation x2 - ax+ 1 = 0 has two distinct roots, then
which of the following CANNOT be correct?

A) |a| =

B) la| <2
C) |a|#2
D) |a|>2

53) A% ARRE X* - ax + 1 = 0 6Q Q&6 @R dp 6F8, 696Q
TV AUQ 600G OF 629 AIF ?

54) If while selling an article, there is r% profit and the cost
price is C, then the selling price S is

A) rC/100

B) (1-r/100)C
C) r/(100C)

D) (1 + r/100)C

54) 4@ @08 9569, r% MIR 98° QI (Y 626& C, 6969 9§ @y
S 665

A) rC/100
B) (1 -r/100)C
C) 1/(100C)
D) (1+1/100)C

55) \5 and 4" can be represented as respectively

A) (125)"6 and (16)"®
B) V125 and 16

C) 125and 16

D) 125and 4

55) V5 4° 417 g QelIger 6000R a0Ide faIIRAIRS

A) (125)"6 and (16)"®
B) V125 and 16

C) 125and 16

D) 125and 4

56) If A, B, C are 3 sets such that A c B, then which of the
following is always correct?

A) C-Ac C-B
B) C-Bc C-A
C) CUB c CUA
D) C c AUB
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56) 9@ A B, C 6238 3 § 699 64003% Q1910 A c B, 6069 G691
UG 696G A9 OF 6% ?

A) C-AcCB
B)C-BcC-A
C) CUB c CUA
D) C c AUB

57) A sum of Rs. 30000 is invested for 3 years at 7.5%
compound interest, what is the sum after one year?

A) Rs.32250
B) Rs.32200
C) Rs.32100
D) Rs.30500

57) 30000 6=1q 3 99 AIR 7.5% 9598 QuI6a F696 @RUTR, XL
Qe 96Q 671G 6R60 OF 629 ?

A) Rs.32250
B) Rs.32200
C) Rs:32100
D) Rs.30500

58) If 'x' is a very small number compared to 'a’, then ratio of
(a+x)?: a?is similar to

A) (a+x) : a

B) a’:a

C) (a+2x):2a

D) (a+2x):a

58) 9& 'x' 62QF U0 F9 AWY 'a’ gRAIER, 6069 (a+x)?: a’ Q
QAT RI21 ATE AR 629

A) (a+x) :a
B) a: a

C) (a+2x) : 2a
D) (@+2x):a

59) Number of lines that can be drawn passing through 2
points is

three
two
one
infinite

— s —

A
B
c
D

59) 2G TR 690 AR 62IRUIQS! AOREQTIFINT QWY 6208

60) If the diagonals of a rhombus are 8 cm and 6 cm. The
perimeter of the rhombus is

A) 28 cm
B) 18 cm
C) 20cm
D) 24 cm

60) 93 4@ A AQ @9g@e 8 cm 9&° 6 cM. 696R AFQ @ AGFE
6069
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Section 7 - Paperll-Social Science

61) Gauhati High Court was a High Court for how many
states of India until 20127

A) 2 States
B) 3 States
C) 7 States
D) 5 States

61) 2012 c1dg| AN 6F1LIT AF RUIAIRT 6REFIT QURIR FUIBIRE,
@l ?

A
B
Cc
D

2 QIaY
3 QY
7 Qg
5 Quay

— e e

62) The Shore temple at Mahabalipuram recognized and
listed amongst the World Heritage Sites by UNESCO was
built during the reign of which dynasty?

A) Pallavas

)

B) Cheras
C) Cholas
D) Pandyas

62) ALIRRIYRFIAS 96 FRQ UI2| YERA FIRI A9 AT 698
QI6S 3991 JIRE 8 SRNIES 62108, G121 696 AIFIY ATAER
&l euuaIeeRl ?

A) QRS
B) 6e4l
C) 6917
D) Qg

63) The Fundamental Duties under Part IV-A were added
to the Indian Constitution based on the recommendations
of the:

A) Swaran Singh committee
B) Udesh Kohli committee
C) Abid Hussain committee
D) Chore committee

63) 64 FITa gaIe 2QAIN AUIASTA ARJIGER QUG IV-A
ZRIFER 65130 FRQY 6916 FAAIRE ?

A) 99 92 /03

B) @699 6nIeh 966
C) 219Q g64q @fF
D) 60169 QG

64) Which among the following is the one of the important
discoveries of Neolithic age?

A) Fire

B) Agriculture

C) Use of Copper

D) Crude and unpolished tools

64) GeqlIa AUQ 69916 G2 gea g9Ia IR geedd 21RaIa 26
?

A) a8

B) @8

C) Qlf Iewia

D) Z6AIIG IQ° @@E QTR

65) A longitude variation of 1 degree causes a time
difference of:

A) 10 minutes
B) 4 minutes
C) 6 minutes
D) 8 minutes

65) QIARIQ 1 g1 FoRe 64Ig AFNER 6R68 TR TARYS 24 2
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66) Who among the following was the representative of
Congress at the Second Round Table Conference held in
London?

A) Jawaharlal Nehru

B) B.R. Ambedkar
C) Mohammad Ali Jinnah
D) Mahatma Gandhi

66) AEREA 62IRLS TOIE QIAS 6O 650Q6Q FIRYE FUQ
64 6°65/260 GER RIEE 69T 6QRUSR ?

A) SRITIONIR 65629
B) 3219, 21670qe
) FIRF0 AR Fa!

)

€121l Clla1

@Q
;.2
C
D

67) What does the term humidity mean?

A) The change in the pH level of the water

B) The amount of water vapour in the air

C) The change of atmospheric temperature

D) The change of the physical state of water vapour into
water

67) QIg A99R GO ATER K€ I ?

A) 909 G99 qIgie 9feae

B) QIgEa R1E QIEQ €I

C) QIENTE SIafIne IoRee

D) 9918 Q19 OIQ 87 RI6S 6wloe ARe

68) What is the minimum age required for voting in India?

A) 22 years
B) 16 years
C) 18 years
D) 21 years

68) WAGEE QIS AR 2R @B A1ET 6@6E ?

A) 22q9
B) 1699
C) 18 g
D) 21 Qg

69) The method of rainwater harvesting which can be
adopted by individual house owners and apartment
complexes is called:

A) Roof-top rainwater harvesting

B) Surface runoff harvesting

C) Catchment-area rainwater harvesting
D) Terrace-top rainwater harvesting

69) edIER 2OR 8T QI BEC A FAIRE G AANTEAS
AGARER FALANIGR, VLI FLIAN :

A) 810 99 QdIeR AR

B) QI2Y QI 261R

C) 9% 924 6996 QUIFR AR
D) 816 @da Qdler 2as

70) Which act of the British Government led to the genesis
of Swadeshi and Boycott movements in India?

A) Khilafat Movement

B) Jallianwala Bagh Massacre
C) Partition of Bengal

D) Rowlett Act

70) 354 QR 699 NG , 96941 02l AULEAIH AERIFFR
2199Q @I9dl 621R2m 7

A) YRNTS CRIRE

B) QIR2IFI GANIIG SELaI
C) Q&r aa

D)

6QIZIEAT 2R,
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71) The Prime Meridian established in 1851 by Sir Biddell
Airy is based at

A) World Health Organisation

B) National Aeronautics and Space Administration, US
C) Royal Observatory, London

D) Indian Military Academy

71) 1851 AALI6Q A6, F660 19Q & TI9 g 6R1RQ! JIRA
6AI5E R 6a90 2980 GIl 6aRl

A) G4 919y L°6l0g

B) qUIQQIR 161057 18 699 2IefF68A] , 949
C) QIR ACHWTIA AL

D) 98217 ARl ARIERE

72) Which of the following fuels are produced directly or
indirectly from plant materials and animal wastes through
anaerobic digestion?

A) Thermal fuel
B) Nuclear fuel
C) Biofuel

D) Fossil fuel

72) FORYE FRIQ 699 QRGT 2LINR1N TIFF JRAIEE QIS

QARG 6 FIREET 2AQTIQ Y6SHE @7l J6aI8 RI6S 98 6212
2

A) Q9% A8F
B) 21969 988
C) 659008
D) @191 a8

73) The Cryosphere refers to any place on Earth where
water is in the

A) frozen form
B) liquid form
C) gaseous form
D) vapour form

73) 651682 92Q1a 6A6AKIA A9q QLIS 6TR0IER IS

A) SIS TR &I

B) 9% 299161 24

C) QI1E 2Q9I6Q 2

D) Q¥ QRIQYSI ALAIER &I

74) What is the meaning of coalition government?

A) The government formed by the opposition party

B) The government jointly formed by more than cne
political party

C) The government formed by the members of the Rajya
Sabha only

D) The government formed by the party which is in
majority

74) G739 A0RIQ ATEA @'Q QRIAN ?

A) Geakll @R 9101 Q@I G108

B) NQQ 2@ QIF 6569 0f FI0l A0RIQ €10

C) 6Q9R QIeY AR AR AIRE ISl QIR F0F
D) ¢l G0@GI 21AR @GSl 97 FI9l 4RI 909

75) According to Continental Drift Theory, all of the earth’s
continents had once existed as a single land mass known
as:

A) Laurasia

)

) Gondwana
) Pangaea

)

B
C
D) Panthalassa

75) (RI6QGI1A-900 9 AQUISa , IR ALY ARIELE, M@
6QlIGN Qo QIEL gml , AIFIQ QIET

A) aaudal
B) 694 QIR
C) aigel

D) dilmal
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Section 8 - Paperll-Science

76) Momentum is a vector quantity and it is the product of
its mass and

A) gravity
B) acceleration
C) torque
D) velocity

76) Q°690 624 U@ 404 AGCIE 99 gl FPq 94 6 -—-a
QR 26T

A) qoeiedd
B) Q@&

C) 6@ @ 2l
D) a&6ad

77) What will be the CORRECT order, when solid, liquid
and gas are arranged in decreasing (high to low) order of
intermolecular space, between their molecules?

A) gas, solid, liquid
B) solid, liquid, gas
C) liquid, solid, gas
D) gas, liquid, solid

77) 212G EVGR AGAINGT 1xI6Q 209, SR B SN 2R
(@9 57)) 9760 ATYRIR 6a6E A0R F€ 622 ?

A) quiQ, @09, 0aR
B) @0@, cam, Qluiq
C) 0o, @0Q, ayig
D) quIg, 0aR, @08

78) One Kilo-Watt-hours is equals to how many Joules?

A) 180000 J

B) 7200000000 J
C) 3600000 J

D) 540000000 J

78) N2 @6RIGIT AL 660 gR TG AR ?

A) 180000 J

B) 7200000000 J
C) 3600000 J

D) 540000000 J

79) Which of the following is an example of chemical
change?

A) sugar dissolves in coffee

B) wax melts

C) steam condenses into liquid water
D) Formation of rust

79) G698 IR 6RAT QAIAGER IGRRR IR AAIVAE 26T ?

A) OF @F6q 9I9e 94

B) 196 9a&ql

C) Q¥ 9% SR6Q JAES 94
D) ao& 4QQ!

80) Other than phosynthesis leaves carry out additional
function like climbing, such modified leaves are called as

A) petal
B) tendril
C) spines
D) sepal

80) ZIERIR LEFIG MBI ISR AN 6R60 AU (1)l QEF
6UC0R 2I6RURE , 6T QUIBAG VLY LI :

A) Qge!l

B) @61 69
C) 671g08
D) 6Qain
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81) Simple alkyl halides and methyl halides reacts most
rapidly in Sn2 reactions due to presence of only

A) four small hydrogen atoms
B) three small hydrogen atoms
C) two small hydrogen atoms
D) one small hydrogen atom

81) Q1910 ACAT AT ANIOG 2INIFA MG 9S° AR IR |
S.2 9PTaIea 2F 619 JoRadIR 9U8 , Q12 69! :

A) QIR 68IF TINELIETR AXCIE]
B) &% 6210 21621699 A9Kg
C) 9@ 681 LINCLIERR] AR
D) 4@ 6816 QIRNELI6SR TIEIIE]

82) A small amount of milk is used in curdling that

A) consists of bacteria which can convert milk into curd
and also helps in reducing Vit B6

B) consists of bacteria which can convert milk into curd
and also helps in reducing Vit B12

C) consists of bacteria which can convert milk into curd
and also aids in enhancing Vit B6

D) consists of bacteria which can convert milk into curd
and also aids in enhancing Vit B12

82) 0 SEIR AR 2g Q& IS T QIRA ?

A) €269 Q1PN &1 QLI VY LR TGS @6Q 99" Vit BE
QIA6Q AIRIIY FER

B) 126Q Q1914 21N U2l N10g @96Q IAES @6Q 9e° Vit B12
21A6Q AILIAY K69

C) 196 191 2N QI V10 2861 AGES 968 9° Vit B6
QE6Q AIRIYY AR

D) 426Q QIR 2N QLI V0] 9T6Q QTGS F69 9.° Vit B12
QE6Q AIRIYY 6

83) Chlorobenzene can be converted into phenol by
heating in aqueous sodium hydroxide solution at

A) 421K temperature & 524 atm pressure
B) 300K temperature & 273 atm pressure
C) 623K temperature & 300 atm pressure
D) 632K temperature & 400 atm pressure

WtsApp/Call- 8596976190

83) 99 6AF2F GG 6960 ARG AT FIGI 6RI6AI 6I6BY ,
661N 68 AFEE g9

A) 421K GRAIG 99° 524 atmIgrEaia Q1d
B) 300K QARG MG® 273 atm QIZFIER1E 9I1d
C) 623K @ia¢1gl 99° 300 atm QIgFana oId
D) 632K @191l 99° 400 atm QILA€EF1E Q19

84) Which among the following is an Prokaryotic Algae?

A) Red Algae

B) Green Algae

C) Brown Algae

D) Blue-Green Algae

84) GORYE F1UQ 6996 94T 63QIR 26T ?

A) R 68QIe

B) 49@ 6dQi@

C) yQa 6dip

D) §1R-99% 6dQIp

85) The process of conversion of gaseous state into liquid
state is called as

A) melting

B) condensation
C) sublimation

D) evaporation

85) S 2RAIR aR AeRIq RUISAS 6261 R GRIAN :

A) G0&E]l

B) @91Q94l
C) a8 a6
D) QI8Qed
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86) F64IB FUIQ 62415 SIGEN 8QI TR 26T ?

A) aIg
B) @ige
C) Qo

D) 2q0l a4l

87) Which of the following organ helps in locomotion in
Bacteria?

A) Flagella

)

) Vacuole
) Cytoplasm
)

B
G
D) Ribosome

87) Q1RI4Q 9R% JIal @R 2@ AILI Q69 ?

A) FeaR
B) Q@alia
C) AR QIR
D) Gelealie

88) A chain of proteins wrapped in a spiral to form a tube
which are the thickest members of the cytoskeleton is
termed as

A) microfilaments

)
) intermediate filaments
) microbodies

)

B
C
D) microtubules

88) 69I16Q @ 92 dgH , QERIRIA66 gFIR 52R IR 30 ZIFIA
ARG GEEIN , QIFI F AREE| 6INGQ Q AR0IQ 6A1IG! A , QI
eEml:

A) Q1965 TRIEE,
B) clafia dmieqd,
C) FIR6x 96q
D)

AIR6F! G497,

89) A rifle fires a bullet of mass 25 g with a velocity 1600
m/s. The man holding it can exert a maximum force of 160
N on the gun. How many bullets can he fire per second at
the most?

A)
)
)
)

o0
w AN

89) 4@ Qg@ 25 g 359a Y@ g@q 1600 m/s 986a96a o |
<RIq 23291 43 @9@ @U6e 160 N @ Aekie 9@ J6aId
RQAITER | 69604 g 66915 g g9 @ ?

90) Which of the following statements is CORRECT about
plant cell wall?

A) Primary cell wall is present outside the secondary cell
wall and is capable of growth and expansion

B) Primary cell wall is present outside the secondary cell
wall and is incapable of growth and expansion

C) Primary cell wall is present inside the secondary cell
wall and is incapable of growth and expansion

D) Primary cell wall is present inside the secondary cell
wall and is capable of growth and expansion

90) B5I9Q 61T QIP10 FTNEA F6EIS AR 699 ABE A0] 26T
?

A) 696049101 621Y gIP1a QITER YN 6718 U010 QE8 1e°
21 QA6 6 G2IQ ARQIg AT

B) 6962401 628 9I91Q QIR JIAF@ 6219 IFIR Q8 1e°
4121 R% 6 §aIQ RGQIq A Q6T

C) 6969801 6818 9I016 o6 gIafie 65/8 91918 928 ¥.°
421 a3 6 F2IQ KAQIg A89 gex

D) 696241 6218 QIR G968 JIFia 6a18 g0 QF7 9a°
21 ARG 6 920 @5QIg AL
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Question Paper No: 47174 97

Answer Key

1. A 31.C 61.C
& B 3. B 6. A
3. B 33 B 63.A
4. A 34.B 64. B
D. A 3% € 635.:B
6. D 36. D 66. D
7. € 37.D 67. B
8. A 38. B 68.C
9. € 39. A 69. A
10. D 40. D 70. C
11.D 41.C 71.C
12.B 42. A 72. C
13. C 43.C 73. A
4. A 44. B 74. B
15. B 45. B 75.C
16. B 46. C 76. D
17. B 47.C 717D
18. C 48. A 78. C
19. D 49. A 79. D
20.B 50.B 80.B
2. € 51, D 8. B
2.C 2. A 82.D
23.C 53. A 83.C
24.C 54.D 84.D
23, € 35 A $35.B
26. D 56. B 86. A
1. Iy 3 & 8.8
28. B 58.D 83. D
29.€C 59.C 8¢ C
30. D 60. C 90. A

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

